





Procurement Unit

Tel. No.: 045-606-8142/606-8157

DELIVERY DUE DATE:

27 JUL 2024

Supplier: **LABOTECH TRADING**

Address: Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque

71 102 000 VAT Dog

PO No.:

PR No .:

2023-05-165 2024-332

263-271-192-000 VAT Reg.

Date:

5/21/2024

0999-227-2526 / (02) 7215-6795 / 7744-3513

Mode of Procurement:

Public Bidding

Gentlemen:

TIN No.:

Tel. No.:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Date of Delivery: TARLAC STATE UNIVERSITY

Delivery Term:

30 calendar days

Payment Term:

N/30

Item No.	Unit	Description	Quantity	Unit Cost	Total Cost		
3	bottle (s)	ALCOHOL, Brand: Cordial, Brand: TLS, denatured, commercial grade	80	3,984.00			
8	unit (s)	ANALYTICAL BALANCE, Brand: WANT, Model: FA3004A, pH Meter - Brand: WANT, Model: PHS-3CU, Standard level analytical balance 252g x 0.0001g; 90mm pan size, high performance benchtop meter, specifications: ±0.01pH; ±1 mV; ±0.5 oC; -1999-1999 mV; Measurement resolution -50C - 110oC; inclusive meter, electrode and pH powder	48,980.00				
9	unit (s)	set (4.01,7.01,10.01) ANEMOMETER, Brand: PEAKMETER, Model: MS6252B, 0.4/s to 20m/s air velocity range -10, 50° operating temp. 0% to 100%	7,800.00				
11	piece (s)	APPARATUS, Brand: RS PRO, Model: 243-6616, DIGITAL CALIPER, made in stainless steel, reading 0.01 mm, accuracy +/- 0.02 mm, repeatability 0.01 mm, 3 buttons: on/off (manual), reset and conversion mm/in	6	4,180.00	25,080.00		
13	piece (s)	APPARATUS, Brand: CORDIAL, GRADUATED CYLINDER, 500 ml	4	880.00	3,520.00		
28	set (s)	BAR, Brand: JOANLAB, PTFE magnetic stir bar	3	3,800.00	11,400.00		
29		BAROMETER, Brand: YAGO TECHNOLOGY, Material: Metal - Size: Length 132mm/5.20inch; width 132mm/5.20inch; height 30mm/1.18inch	5	908.00	4,540.00		
36	piece (s)	BEAKER, Brand: CORDIAL, 50ml, borosilicate glass any diameter	20	20 98.00 1,960.0			
39	case (s)	BOD BOTTLES, Brand: CORDIAL, 6.9 cm diameter, height = 16.5cm, capacity = 300 ml, Available with either glass robotic or pennyhead stoppers. 24 pcs. /case.	3	24,998.00	74,994.00		
		sub-total:			182,258.00		

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

DR. ARNOLD E. VELASCO

President Authomzed Official

Conforme:

Elvin B. Teves

05.270.74

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

No.: TSU-PRO-SF-09

JASPER A. YAUDER, CPA

Revision No. 02

Budget Officer

ALOBS No.: 12-20441/2014-05-1766

Amount: # 1370512-40

Effectivity Date: October 25, 2019

Page 1 of 18







27 JUL 2024

Tel. No.: 045-606-8142/606-8157

LABOTECH TRADING Supplier:

Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque Address:

TIN No.: 263-271-192-000 VAT Reg.

Tel. No.: 0999-227-2526 / (02) 7215-6795 / 7744-3513 PR No.:

2023-05-165

PO No.:

2024-332

Date: Mode of Procurement: 5/21/2024 Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Date of Delivery:

TARLAC STATE UNIVERSITY

Delivery Term: Payment Term: 30 calendar days

N/30

Date of Belivery.				rayment term. <u>N/30</u>			
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost		
		Balance Forwarded:			182,258.00		
41	piece (s)	BOTTLE, Brand: CORDIAL, Reagent Bottle, Brown, 125ml,	50	128.00	6,400.00		
		with glass cap					
42	piece (s)	BOTTLE, Brand: CORDIAL, Reagent Bottle, Brown, 10ml,	20	48.00	960.00		
		with plastic screw cap					
43	piece (s)	BOTTLE, Brand: CORDIAL, Reagent Bottle, Brown, 30ml,	20	68.00	1,360.00		
		with glass cap			= = =====		
44	piece (s)	BOTTLE, Brand: CORDIAL, Reagent Bottle, Brown, 60ml,	20	118.00	2,360.00		
45		with glass cap					
45	piece (s)	BRUSH, Brand: CORDIAL, Buret, for 25-50 mL. Brush	3	1,108.00	3,324.00		
		Diameter: 1.3 cm; Total Length: 76 cm; Unbleached white					
46	niono (a)	nylon bristles are supported by twisted galvanized steel	-	00.00	400.00		
40	piece (s)	BRUSH, Brand: CORDIAL, for MICRO-TUBE, 0.25-0.5" diameter, 3" brush length, 7" overall length	5	80.00	400.00		
47	piece (s)	BRUSH, Brand: CORDIAL, for TEST TUBE, 0.5" diameter, 3"	5	80.00	400.00		
47	piece (s)	brush length, 8" overall length	5	80.00	400.00		
48	piece (s)	BRUSH, Brand: CORDIAL, for VOLUMETRIC FLASK, WHITE	5	528.00	2,640.00		
10	piece (s)	BRISTLE, 1000ML, 17" Length, 1-3/4" dia, 5" brush length	5	320.00	2,040.00		
49	piece (s)	BRUSH, Brand: CORDIAL, for VOLUMETRIC FLASK, WHITE	5	280.00	1,400.00		
	, ,	BRISTLE, 250ML, 12" Length, 1-3/8" dia, 3-1/2" brush					
50	piece (s)	BRUSH, Brand: CORDIAL, for VOLUMETRIC FLASK, WHITE	10	388.00	3,880.00		
		BRISTLE, 500ML, 14" Length, 1-1/2" dia, 4" brush length					
53	piece (s)	BUNSEN BURNER, Brand: CORDIAL, Standard Burner,	10	880.00	8,800.00		
		Natural Gas, 1/2" (13mm) Mixing Tube OD, 5.33 CFH, 5,465					
		BTU Output, 5-3/8" (137mm) Overall Height					
55	vial (s)	CAPILLARY TUBE, Brand: CORDIAL, Blue, cat no. 2501, 200	2	408.00	816.00		
		tubes/vial	_				
61	box (es)	COTTON SWAB, Brand: MEDPRO, COTTON SWAB, Cotton	7	280.00	1,960.00		
		tipped applicator with 6" wood shaft, single-tip, sterile,					
*		100/box sub-total:			D4 (C#0 00		
		Sub-total:			216,958.00		

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for nonexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

Conforme:

Revision No. 02

DR. ARNOLD E. VELASCO

resident

Authorized Official

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

No.: TSU-PRO-SF-09

ALOBS No.: 92-204441-624-65-176C

Amount: + 137056 2-40

JASPER A. YAUDER, CPA **Budget Officer**

Effectivity Date: October 25, 2019

Page 2 of 18





27 JUL 2024

Tel. No.: 045-606-8142/606-8157

2023-05-165 PR No.: **LABOTECH TRADING** Supplier:

Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque Address:

263-271-192-000 VAT Reg. Date: TIN No.:

Tel. No.: 0999-227-2526 / (02) 7215-6795 / 7744-3513

PO No.: 2024-332 5/21/2024

Mode of Procurement: **Public Bidding**

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

TARLAC STATE UNIVERSITY Delivery Term: 30 calendar days Place of Delivery: Payment Term: N/30Date of Delivery:

Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded:			216,958.00
62	box (es)	COVER GLASS RECTANGLES, Brand: CORDIAL, 22 x	120	188.00	22,560.00
		22, 1 oz. Box 100's			
63	bag (s)	CULTURE TUBE CAP, Brand: LABOPETTE, FOR 13MM	2	558.00	1,116.00
		GLASS CULTURE TUBES, Blue, 100/bag			
64	bag (s)	CULTURE TUBE CAP, Brand: LABOPETTE, FOR 16MM	2	558.00	1,116.00
		GLASS CULTURE TUBES, Blue, 100/bag	_		
65	bag (s)	CULTURE TUBE CAP, Brand: LABOPETTE, FOR 25MM	2	558.00	1,116.00
		GLASS CULTURE TUBES, Blue, 100/bag			
66	pack (s)	CULTURE TUBES, Brand: CORDIAL, with screw caps.	1	1,558.00	1,558.00
		Borosilicate type. OD x L = 25×150 mm or 22×175			
		mm or 25 x 200 mm. Capacity to Neck: 50 mL. 10			
72	niogo (g)	pieces/pack. Total of 20 pieces. For TSU-ATL use DIGITAL THICKNESS GAUGE, Brand: YAGO	1	18,000.00	10,000,00
/2	piece (s)	TECHNOLOGY, Resolution: 0.0005 in, 0.01 mm;	1	16,000.00	18,000.00
		Accuracy: +/- 0.001 in; Data Output Type: Cable;			
		Actuation Type: Trigger; Actuation Type: Trigger;			
		Contact Material: Ceramic; Dimension Type:			
		Inch/Metric; Range: 0 in to 1/2 in, 0 mm to 12 mm;			
		Throat Depth: 4.7"; Anvil Diameter: 0.394"; Battery			
		Size: Silver Oxide Cell SR44; Display Type: LCD; Grip			
		Style: Convenient Grip; Maximum Measuring Force: 1.5			
		N; With Calibration Certificate			
74	set (s)	DISTILLING KIT, Brand: CORDIAL, made from heat-	3	12,088.00	36,264.00
		resistant borosilicate glass; 1 Erlenmeyer Flask, 500ml;			
		1 Distillation Flask with Thermometer Holder,			
		sub-total:			298,688,00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for nonexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

Conforme:

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

No.: TSU-PRO-SF-09

IASPER A. YAUDER, CPA **Budget Officer**

Revision No. 02

02-20441-2024-05-1766

LD E. VELASCO

Authorized Official

Amount: +137056 2-40

Effectivity Date: October 25, 2019

Page 3 of 18







Procurement Unit

Tel. No.: 045-606-8142/606-8157

DELIVERY DUE DATE:

2 7 JUL 2024

LABOTECH TRADING PR No.:

Address: Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque TIN No.:

263-271-192-000 VAT Reg.

0999-227-2526 / (02) 7215-6795 / 7744-3513

PO No.:

2023-05-165 2024-332

Date:

5/21/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Tel. No.:

Supplier:

Please furnish this office the following articles subject to the terms and conditions contained herein:

TARLAC STATE UNIVERSITY

Delivery Term:

30 calendar days

Date of Delivery:				Term:	<u>N/30</u>	
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost	
		Balance Forwarded:			298,688.00	
		1L with a 24/40 ground glass joint; 1 Biomass Flask; 1				
		Distilling Arm with a 45/50 ground glass joint; 1				
		Distillation Separation Tube; 1 Liebig Condenser, 300mm				
		long with 24/40 ground glass joints; 1 Support Stand; 1				
		Extension Clamp; 1 Clamp Holder; 1 BURETTEe Clamp; 5				
		Feet of Latex Tubing; 1 Glass Stopper; 2 Head Clips				
75	pack (s)	DROPPER, Brand: CORDIAL, for medicine, Glass,	2	1,258.00	2,516.00	
		(36/pack)				
76	piece (s)	DROPPING BOTTLE, Brand: CORDIAL, with dropping	1	328.00	328.00	
		bulb and pipet, Standard Tapergroundglass stopper 125				
		ml				
78	piece (s)	DURHAM TUBES, Brand: CORDIAL, 8 x 45 mm	28	800.00	22,400.00	
85	piece (s)	EVAPORATING DISH, Brand: CORDIAL, Porcelain, 100mL	50	198.00	9,900.00	
		capacity				
88	box (es)	FILTER PAPER, Brand: CORDIAL, Ordinary, 100	3	298.80	896.40	
		circles/box, 12.5cm.				
89	box (es)	FILTER PAPER, Brand: ANOW, Qualitative, #1, with	4	980.00	3,920.00	
		diameter of 150 mm. 100 pieces per box				
90	box (es)	FILTER PAPER, Brand: ANOW, Qualitative, #2, with	4	1,180.00	4,720.00	
		diameter of 150 mm. 100 pieces per box				
91	pack (s)	FILTER PAPER, Brand: ANOW, Whatmann, Number 1,	3	1,980.00	5,940.00	
		Pack of 100				
96	piece (s)	FLASK, VOLUMETRIC FLASK, Brand: CORDIAL, 25ml,	15	480.00	7,200.00	
		Borosilicate glass. Clear. With glass cap				
99	pack (s)	GLASS BEADS, Brand: CORDIAL, 5mm laboratory, pack of	2	2,998.00	5,996.00	
		500	1			
		sub-total:	5-		362,504.40	

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for nonexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

Conforme:

D E. VELASCO

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

YAUDER, CPA Budget Officer

ALOBS No.: 02- 104441-1021-03-1766

Amount: \$ 1370762-46

Page 4 of 18

No.: TSU-PRO-SF-09

Revision No. 02







27 JUL 2024

Tel. No.: 045-606-8142/606-8157

LABOTECH TRADING Supplier:

Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque Address: 263-271-192-000 VAT Reg. TIN No.:

0999-227-2526 / (02) 7215-6795 / 7744-3513 Tel. No.:

PR No .: PO No.: 2023-05-165 2024-332

Date:

5/21/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

30 calendar days TARLAC STATE UNIVERSITY Delivery Term: Place of Delivery: N/30Payment Term: Date of Delivery:

Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded:			362,504.40
100	case (s)	GLASS BEADS, Brand: CORDIAL, made of solid	2	5,480.00	10,960.00
		borosilicate or soda-lime glass, chemical resistant with			
		approximate diameter of 5 mm, 1 lb per case			
101	piece (s)	GLASS FUNNELS, Brand: CORDIAL, short stem 60 and	20	150.00	3,000.00
		100mm diameter			
111	box (es)	HEMACYTOMETER, Brand: MC QUIJING, cover slips,	3	800.00	2,400.00
		Glass, 20x26mm, 0.35mm thickness, 10s/box			
113	unit (s)	HOTPLATE, Brand: BIOBASE, Model: MS7-H550-S, with	2	46,108.00	92,216.00
		magnetic stirrer - Stirring Quantity Max per stirring			
		position (H2O) [l]: 10; Motor Rating Output [W]: 1.5;			
		Direction of Rotation: Left; Speed Control: Scale 0-6;			
		Speed Range [rpm]: 0-1500; Stirring Bar length max			
		[mm]: 80; Heat O u t p u t [W]: 1 0 0 0; H e a t i n g			
		Temperature Range [C]: 50-550; Heat Control: LED;			
		Heating Rate Heating Plate [K/min]: 5-7; Control			
		Accuracy with Sensor [+/-K]: 3 setup; Plate Material:			
		Ceramic; Permissible Ambient Temperature [C]: 5-40;			
		Permissible Relative Humidity [%]: 80; 110/220V + 10%;			
		50/60Hz; 2 years warranty on parts and services with			
		training or demonstration;]		
115	piece (s)	HYGROMETER, Brand: YAGO TECHNOLOGY, Model: HTC-	5	4,800.00	24,000.00
		2, Relative humidity range is 25 to 95%; Resolution is 1%			
		RH; Accuracy is ±3% RH mid-range to ±5% elsewhere;			
		Temperature range is 0-50°C / 32-122°F; Resolution is			
		1°; Accuracy is ±1°C; Meter may be used with bench stand			
		and can also be wall mounted. Unit measures 3 1/2" x 5"		1	
		x 7/8" and weighs six ounces.			
		sub-total:			495,080.40

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for nonexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

D E. VELASCO resident

Conforme:

LABOTECH TRADING (Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

Budget Officer

ALOBS No. : 12-201441 - 2024-05-1766

Amount: # 1370512-40

Page 5 of 18

No.: TSU-PRO-SF-09 Revision No. 02



DELIVERY DUE DATE:

27 JUL 2024

Procurement Unit

Tel. No.: 045-606-8142/606-8157

Supplier: **LABOTECH TRADING**

Address: Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque

TIN No.: 263-271-192-000 VAT Reg.

0999-227-2526 / (02) 7215-6795 / 7744-3513

PR No.:

2023-05-165

PO No.:

2024-332

Date:

5/21/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Tel. No.:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery:

TARLAC STATE UNIVERSITY

Delivery Term:

30 calendar days

Date of Delivery:			Payment Term:		<u>N/30</u>	
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost	
		Balance Forwarded:			495,080.40	
		Devices are provided with an individually serial				
		numbered certificate from an ISO 17025 calibration				
		laboratory accredited by A2LA. Certificate indicates				
		traceability to standards provided by NIST.				
117	piece (s)	INOCULATING NEEDLE, Brand: CORDIAL, Length: 45mm	20	180.00	3,600.00	
123	set (s)	LABORATORY THERMOMETER, Brand: CORDIAL,	10	168.00	1,680.00	
		Divisions: 2°F; accuracy: ±4°F; length: 300mm (12in);				
		immersion: total Features red organic liquid against				
		white back glass				
124	pack (s)	LAZY-L-SPREADERS, Brand: LABOPETTE, individually	1	7,880.00	7,880.00	
		wrapped, sterile, pack of 500			"	
126	piece (s)	LIGHT INTENSITY METER, Brand: SMART SENSOR,	1	3,800.00	3,800.00	
		Model: AS803, Lux/Fc reading, digital LCD display,				
		portable, autoranging				
129	box (s)	MASK, Brand: INDOPLAS, Surgical Face Mask, 3ply,	5	98.00	490.00	
		with earloop, disposable, 50pcs/box, FDA Registered				
130	piece (s)	MEASURING PIPETTE, Brand: CORDIAL,	15	198.00	2,970.00	
		(BOROSILICATE, 10ML CAPACITY)				
131	piece (s)	MEASURING PIPETTE, Brand: CORDIAL,	5	218.00	1,090.00	
		(BOROSILICATE, 20ML CAPACITY)				
132	piece (s)	MEASURING PIPETTE, Brand: CORDIAL,	15	180.00	2,700.00	
		BOROSILICATE, 1ML CAPACITY				
		sub-total:	-		519,290.40	

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

Conforme:

05-70-74

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

No.: TSU-PRO-SF-09

JASPER A YAUDER, CPA **Budget Officer**

Revision No. 02

ALOBS No.: 12-204441-2024 05-1766

Amount: + 1370 562.46

DR. ARNOLD E. VELASCO resident

d Official

Effectivity Date: October 25, 2019

Page 6 of 18







2 7 .111 2024

Procurement Unit

Tel. No.: 045-606-8142/606-8157

Supplier: **LABOTECH TRADING**

Address: Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque
TIN No.: 263-271-192-000 VAT Reg.

Tel. No.: 0999-227-2526 / (02) 7215-6795 / 7744-3513

PR No.:

2023-05-165

PO No.:

2024-332

Date:

5/21/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

T TOUGHT THE STATE OF	,		
Place of Delivery:	TARLAC STATE UNIVERSITY	Delivery Term:	30 calendar days
Date of Delivery:		Payment Term:	<u>N/30</u>

Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
134	piece (s)	Balance Forwarded: MEDIA STORAGE BOTTLES, Brand: CORDIAL, 1000 ML - Heavy-duty media bottle can be used for storage as well as mixing and sampling. Includes liner less, one-piece autoclavable polypropylene plug seal cap with drip free pouring rings. Bottles have permanent white enamel graduations and marking spots.	5	800.00	519,290.40 4,000.00
135	piece (s)	MEDIA STORAGE BOTTLES, Brand: CORDIAL, 250 ML, Heavy-duty media bottle can be used for storage as well as mixing and sampling. Includes liner less, one-piece autoclavable polypropylene plug seal cap with drip free pouring rings. Bottles have permanent white enamel graduations and marking spots	60	280.00	16,800.00
136	piece (s)	MEDIA STORAGE BOTTLES, Brand: CORDIAL, 500 ML - Heavy-duty media bottle can be used for storage as well as mixing and sampling. Includes liner less, one-piece autoclavable polypropylene plug seal cap with drip free pouring rings. Bottles have permanent white enamel graduations and marking spots.	35	380.00	13,300.00
137	piece (s)	MEDICINE DROPPER, Brand: CORDIAL, Glass, 36/pack	2	1,258.00	2,516.00
138	box (es)	MEMBRANE FILTERS, Brand: FINETECH, Sterile Cellulose Microplus Membrane Filters - white with 3.1 mm black grid for Membrane-Butler, 0.45 μm, 47 mm circle (100 pcs)	3	10,800.00	32,400.00 588,306.40

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

Elvin S. Teves

W-01-76

DR. ARNOLD E. VELASCO

President

d Official

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

JASPER A PAUDER, CPA
Budget Officer

ALOBS No.: 02-204441-2024-92-1765

Amount: \$ 37056240

Effectivity Date: October 25, 2019

Very truly yours,

Page 7 of 18

No.: TSU-PRO-SF-09

Revision No. 02



DELIVERY DUE DATE:

27 JUL 2024

Procurement Unit

Tel. No.: 045-606-8142/606-8157

Supplier: **LABOTECH TRADING**

Address: Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque

TIN No.: 263-271-192-000 VAT Reg.

Tel. No.: 0999-227-2526 / (02) 7215-6795 / 7744-3513

PR No.:

2023-05-165

PO No.:

2024-332

Date:

5/21/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: TARLAC STATE UNIVERSITY

Delivery Term: 30 calendar days

Payment Term: N/30

,						
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost	
142	set (s)	Balance Forwarded: MOLECULAR MOTION MODEL, Brand: INNOCOM, fifty- one chromed steel balls represent the molecules of a gas in a closed vessel. Heat is simulated by supplying vibrations from a wave driver. When this external energy is applied, the steel balls exert a pressure on the container, forcing the top of the container upward. The relationship between temperature, pressure and volume is clearly demonstrated. Students also gain insight into the effects of temperature and height on the density of an ideal gas in a gravitational field. It can be used on an overhead projector	5	1,680.00	588,306.40 8,400.00	
143	pack (s)	NARROW MOUTH WASH BOTTLE ASSORTMENT, Brand: LABOPETTE, 250 ML, pack of 5	2	548.00	1,096.00	
145	unit (s)	NOISE METER, Brand: SMART SENSOR, Model: AS804, digital LCD display, 30-130 dB range, ± 1.5 dB precision, 0.01 dB resolution	1	4,108.00	4,108.00	
147		OVEN MITTEN, Brand: LABOPETTE, 13" Long Thick Silicone Oven Mitts / Heat-Resistant Oven Mittens / Anti-scalding Kitchen Gloves / Potholder for Cooking & Baking	3	280.00	840.00	
152	piece (s)	PARAFILM, Brand PARAFILM M, 4 in x 125ft (100mm x 38mm) sub-total:	13	3,180.00	41,340.00 644,090.40	

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

Conforme:

Elvin S. Teves

CT-70-74

DR. ARNOLD E. VELASCO President

President horized Official

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

No.: TSU-PRO-SF-09

JASPER A. YAUDER, CPA

Revision No. 02

Budget Officer

ALOBS No.: 12- 104-44-104-1755-1755

Amount: \$ 1370562-40

Effectivity Date: October 25, 2019

Page 8 of 18



DELIVERY DUE DATE:

27 JUL 2024

Procurement Unit

Tel. No.: 045-606-8142/606-8157

Supplier: **LABOTECH TRADING**

Address: Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque

TIN No.: 263-271-192-000 VAT Reg.

Tel. No.: 0999-227-2526 / (02) 7215-6795 / 7744-3513 PR No.:

2023-05-165

PO No.:

2024-332

Date:

5/21/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Date of Delivery:

TARLAC STATE UNIVERSITY

Delivery Term:

30 calendar days

Payment Term:

N/30

Date of Derivery.				Term:	<u>N/30</u>
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
153	piece (s)	Balance Forwarded: PETRI DISH, Brand: CORDIAL, with cover, 100 X 15 - Flat, clear dishes will withstand repeated sterilization	505	188.00	644,090.40 94,940.00
		(wet or dry). The edges are beaded to provide greater mechanical strength. The bead also provides a means to equally space the sidewalls of the bottom and cover, thereby reducing the capillary action of the condensed moisture on the sides. They are not affected chemically or thermally by any of the methods commonly employed in laboratories where sterilization is routinely used. The covered dish is not airtight. Bottoms also have a triangular enamel reference point for serial dilutions.			
154	piece (s)	PH METER, Brand: TESTO, Model: 206-PH, Handheld Ph Meter/ Thermometer Robust, waterproof and dishwasher-safe protective case (protection class IP68) Temperature specification; Measuring range;0 to +60 °C (Short-term to +80 °C max. 5 min), Accuracy; ±0.4 °C, ;Resolution 0.1 °C pH - Electrode Measuring range;0 to 14 pHAccuracy;±0.02 pHResolution;0.01 pH General Specification, Weight;69 g,Dimensions;197 x 33 x 20 mm ((LxWxH)), Operating temperature;			40,000.00
		sub-total:			779,030.40

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

Conforme:

D E. VELASCO

President

Official W

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

No.: TSU-PRO-SF-09

JASPER A YAUDER, CPA

Budget Officer

Revision No. 02

Effectivity Date: October 25, 2019

ALOBS No.: 02-20144 - 2024 - 05 - 1761

Amount: \$1370561.41

Page 9 of 18



Procurement Unit

Tel. No.: 045-606-8142/606-8157

DELIVERY DUE DATE:

27 JUL 2024

LABOTECH TRADING Supplier:

Address:

Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque

PO No.:

PR No.:

2023-05-165 2024-332

TIN No.: 263-271-192-000 VAT Reg. Date:

5/21/2024

Tel. No.: 0999-227-2526 / (02) 7215-6795 / 7744-3513 Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Date of Delivery:

TARLAC STATE UNIVERSITY

Delivery Term:

30 calendar days

Payment Term:

N/30

				<u></u>		
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost	
		Balance Forwarded: ;0 to +60 °C, Product-/housing material; ABS, Protection class; IP68, Product colour; white, Length probe shaft; 3.5 mm, Diameter probe shaft; 15 mm, Display type; LCD (Liquid Crystal Display), Display size; 2 lines, Measuring rate; 2 measurements per second, Temperature compensation; automatic, Storage temperature; -20 to +70 °C			779,030.40	
155	piece (s)	PH METER, Brand: WANT, Model: P-3, Handheld; with Calibration Certificate; Stable measurements are automatically recognized, allowing for easy readings. Built-in temperature probe ensures efficient temperature compensation. Includes essential accessories to get started right away; Measuring range: 32 to 140 °F (0 to 60 °C); Accuracy: ±0.7 °F (±0.4 °C); Resolution: 0.1 °F / 0.1 °C; pH - Electrode Measuring range: 0 to 14 pH; Accuracy: ±0.02 pH; Resolution: 0.01 pH; Protection Class: IP68; Display size: 2 lines; Storage temperature: -4° to 158°F (-20 to +70°C); Operating temperature: 32° to 140°F (0 to +60°C)	2	8,000.00	16,000.00	
156	pack (s)	PH PAPER, Brand: CORDIAL, 0 to 14 range at 100 strips/pack. For immediate and on-site pH checking.	10	580.00	5,800.00	
		sub-total:			800,830.40	

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

Conforme:

05-70-74

DR. ARNOLD E. VELASCO President

Authorized Official (V

Ι.	A	D	1	TI	CH	TR	A	n	IN	IC
40	- 1	2.3	v		LII	1 17	77		113	4 4 7

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

JASPER A YAUDER, CPA

Budget Officer

ALOBS No.: 02- 20 youl-20 24-05 7766

Amount: P1370912-41

No.: TSU-PRO-SF-09 Revision No. 02 Effectivity Date: October 25, 2019

Page 10 of 18







27 JUL 2024

Procurement Unit

Tel. No.: 045-606-8142/606-8157

Supplier: LABOTECH TRADING

Address: Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque

TIN No.: 263-271-192-000 VAT Reg.

Tel. No.: 0999-227-2526 / (02) 7215-6795 / 7744-3513

PR No.:

2023-05-165

PO No.:

2024-332

Date:

5/21/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Deli	very:	TARLAC STATE UNIVERSITY	Delivery 7	Term:	30 calendar days
Date of Deliv	ery:		Payment	Term:	N/30
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded:			800,830.40
161	box (es)	PIPETTE TIPS, Brand: LABOPETTE, 10 ML, Racked, Box of 28	3	3,180.00	9,540.00
163	bag (s)	Tips (autoclavable tips and tip box) PIPETTE TIPS, Brand: LABOPETTE, 10mL - Bag Of 1000; Fully	1	19,800.00	19,800.00
151	1	autoclavable			
164	bag (s)	PIPETTOR, Brand: JOANLAB PIPETTOR, SINGLE-CHANNEL,	3	5,800.00	17,400.00
		(SET) 0.5 - 10UL, 5-1000UL, WITH 10 UL TIPS, 200UL AND 350UL TIPS IN RACKS @ 1 PACK EACH WITH LINEAR STAND			
173	bag (s)	PLASTIC WASH BOTTLE, Brand: LABOPETTE, HDPE, 500 ml	30	180.00	5,400.00
		capacity	50	100.00	5,100.00
187	bag (s)	PROFESSIONAL ASTRONOMICAL MONOCULAR TELESCOPE,	1	20,088.00	20,088.00
		Brand: CELESTRON, Model: SCTW-80, Objective lens Objective		20,000,00	20,000,00
		lens focal length Eyepiece 1Aspherical eyepiece 23mm, Eyepiece			
		2Aspherical eyepiece 10mm Mirror90° mirror, Tube material,			
		Aluminum alloy, Optical structure Refractive, Finder Red dot			
		finder, Bracket AZ theodolite, Coating FMC antireflection film			
		Tripod Stainless steel tripod, Color White, Features: High			
		strength aluminum alloy material. HD clear and bright imaging.			
		Easy to shoot. Quick installation. Portable and easy to carry.			
		Package included: 1 x Astronomical telescope 1 x Portable			
		storage bag			
190	piece (s)	REFRACTOMETER, Brand: YAGO TECHNOLOGY, 0%-32% Brix;	2	3,800.00	7,600.00
		Handheld Analog Brix/Sucrose; Accuracy: ±0.1°; Height			
		(Metric): 39mm; Increments: 0.1°; Lighting Type: Ambient;			
		Temperature Compensation: Yes; Weight (English): 0.881 lb;			
		Width (English): 1.535 in.; Dimensions (L x W x H): 204 x 39 x			
		39mm; Sample Volume: 1mL; Temperature Range (Metric): 50°			
		to 86° F (10° to 30° C); Scale Type: Linear; Calibration: Distilled			
		Water; Include: Calibration Screw Driver, Hard Sided Case,	ļ		
		Applicator, Calibration Fluid, Manual			
		sub-total:			880,658.40

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

Elvin 5 Teves

W-016-10

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:



ALOBS No.: 02-206 44/ 1024-05-1716

D E. VELASCO

resident

Amount: \$1370 \$12-40

Effectivity Date: October 25, 2019

Very truly yours,

Page 11 of 18

No.: TSU-PRO-SF-09 Revision No. 02









27 JUL 2024

Procurement Unit

Tel. No.: 045-606-8142/606-8157

Supplier: **LABOTECH TRADING**

Address: Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque TIN No.: 263-271-192-000 VAT Reg.

Tel. No.: 0999-227-2526 / (02) 7215-6795 / 7744-3513 PR No.:

2023-05-165

PO No.:

2024-332

Date:

5/21/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Date of Delivery:

TARLAC STATE UNIVERSITY

Delivery Term:

30 calendar days

Payment Term:

N/30

Itama No	IIit	Description	0	II . I C	m . 10
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
191	piece (s)	Balance Forwarded: REFRACTOMETER, Brand: YAGO TECHNOLOGY, 28%-62% Brix; Handheld Analog Brix/Sucrose; Accuracy:	2	3,800.00	880,658.40 7,600.00
	-	±0.1°; Height (Metric): 39mm; Increments: 0.1°; Lighting Type: Ambient; Temperature Compensation: Yes; Weight (English): 0.881 lb; Width (English): 1.535 in.; Dimensions (L x W x H): 204 x 39 x 39mm; Sample Volume: 1mL; Temperature Range (Metric): 50° to 86° F (10° to 30° C); Scale Type: Linear; Calibration: Distilled Water; Include: Calibration Screw Driver, Hard Sided Case, Applicator, Calibration Fluid, Manual			
192	piece (s)	REFRACTOMETER, Brand: YAGO TECHNOLOGY, 58%-90% Brix; Handheld Analog Brix/Sucrose; Accuracy: ±0.1°; Height (Metric): 39mm; Increments: 0.1°; Lighting Type: Ambient; Temperature Compensation: Yes; Weight (English): 0.881 lb; Width (English): 1.535 in.; Dimensions (L x W x H): 204 x 39 x 39mm; Sample Volume: 1mL; Temperature Range (Metric): 50° to 86° F (10° to 30° C); Scale Type: Linear; Calibration: Distilled Water; Include: Calibration Screw Driver, Hard Sided Case, Applicator, Calibration Fluid, Manual	2	3,800.00	7,600.00
193	piece (s)	REFRACTOMETER, Brand: YAGO TECHNOLOGY, Salinity; Scale Range: Sodium chloride 0.0 to 28.0%; Minimum Scale: Sodium chloride 0.2%; Size & Weight: 3.2×3.4×20.3cm, 105g	2	3,800.00	7,600.00
196	pack (s)	RESEALABLE PLASTIC BAG, Brand: ROYAL, size: 6.5 x 9.5 in, 100 pcs per pack	3	198.00	594.00
		sub-total:			904,052.40

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for nonexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

DR. ARMOLD E. VELASCO

Conforme:

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

JASPER A. YAUDER, CPA

Budget Officer

ALOBS No .: 12- 206441- 2024-05-1766

Amount : \$ 1370 712-40

No.: TSU-PRO-SF-09

Revision No. 02

Effectivity Date: October 25, 2019 Page 12 of 18





27 JUL 2024

Procurement Unit

Tel. No.: 045-606-8142/606-8157

Supplier: LABOTECH TRADING

Address: Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque

TIN No.: 263-271-192-000 VAT Reg.

0999-227-2526 / (02) 7215-6795 / 7744-3513

PR No.:

2023-05-165

FU NO.

2024-332

Date:

5/21/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Tel. No.:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery:	TARLAC STATE UNIVERSITY	Delivery Term:	30 calendar days
Date of Delivery:		Payment Term:	N/30

<u> </u>					
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded:			904,052.40
200	set (s)	RUBBER STOPPER BORER, Brand: CORDIAL, with	1	3,680.00	3,680.00
		different sizes/diameter			
201	pack (s)	RUBBER STOPPER, Brand: CORDIAL, Solid black, (# 6	1	580.00	580.00
		for 250 mL erlenmeyer flasks), 25 mm length. 10			
		pieces /pack			
205	piece (s)	SCREW CAP CULTURE TUBES, Brand: CORDIAL, WITH	300	98.00	29,400.00
		PHENOLIC CAPS, 25ML - 20X125MM			23)100.00
206	piece (s)	SCREW CAP CULTURE TUBES, Brand: CORDIAL,	350	128.00	44,800.00
		WITH PHENOLIC CAPS, 50ML			,
208	piece (s)	SEPARATORY FUNNEL, Brand: CORDIAL, 125ml	10	1,800.00	18,000.00
209	piece (s)	SEPARATORY FUNNEL, Brand: CORDIAL, 250 mL.	4	2,800.00	11,200.00
		Borosilicate type. Height: 311 mm. Pear shaped			
		(Squibb) type with Teflon stopcock. Clear glass body.			
		Highly chemical resistant and fully autoclavable. High			
		density linear polyethylene stopper with closed bottom	7		
		included. Accepts stopcock size 4 included.			
210	piece (s)	SEPARATORY FUNNEL, Brand: CORDIAL, Glass, 500	19	3,800.00	72,200.00
		mL. Borosilicate type. Height: 354 mm. Pear shaped			
		(Squibb) type with Teflon stopcock. Clear glass body.			
		Highly chemical resistant and fully autoclavable. High			
		density linear polyethylene stopper with closed bottom			
		included. Accepts stopcock size 4 included			
		sub-total:			1,083,912.40

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

Conforme:

Elvin 3. Teves

05-70-7U

DR. ARNOLD E. VELASCO

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

No.: TSU-PRO-SF-09



Revision No. 02

ALOBS No.:

Amount:

Effectivity Date: October 25, 2019

Page 13 of 18







Tel. No.: 045-606-8142/606-8157

DELIVERY DUE DATE:

27 JUL 2024

LABOTECH TRADING Supplier:

Address: Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque

263-271-192-000 VAT Reg.

TIN No.:

0999-227-2526 / (02) 7215-6795 / 7744-3513

PR No.: PO No.: 2023-05-165

Date:

2024-332 5/21/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Tel. No.:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery:	TARLAC STATE UNIVERSITY	Delivery Term:	30 calendar days
Date of Delivery:		Payment Term:	<u>N/30</u>

Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
212	piece (s)	Balance Forwarded: SIEVE, Brand: TYLER, standard, No. 200 (0.075 mm, 8" Diameter, Stainless Frame and Cloth)	1	4,780.00	1,083,912.40 4,780.00
213	piece (s)	SIEVE, Brand: TYLER, standard, Pan (Stainless steel with skirt full height)	1	2,998.00	2,998.00
215	set (s)	SOIL PH METER, Brand: YAGO TECHNOLOGY, with external electrode, waterproof case and connectors, calibration solutions included accuracy ±0.07 pH (between 5 and 9 pH)	2	6,800.00	13,600.00
219	pack (s)	SPREADER, Brand: LABOPETTE, Lazy-L, individually wrapped, sterile (pack of 500)	3	8,800.00	26,400.00
220	piece (s)	STAND, Brand: LABOPETTE, 90-PLACE, for test tubes, REINFORCED PP, 13MM, 31-PLACE, BLUE - Fully autoclavable; Manufactured from durable reinforced polypropylene (PP); Three tiered design holds tubes securely; Sturdy handles facilitate easy transport.	10	380.00	3,800.00
221	piece (s)	STAND, Brand: LABOPETTE, 60-PLACE, for test tubes, REINFORCED PP, 16MM, BLUE - Fully autoclavable; Manufactured from durable reinforced polypropylene (PP); Three tiered design holds tubes securely; Sturdy handles facilitate easy transport	10	380.00	3,800.00
222	piece (s)	STAND, Brand: LABOPETTE, 24-PLACE, for test tubes, REINFORCED PP, 25MM, BLUE - Fully autoclavable; Manufactured from durable reinforced polypropylene (PP); Three tiered design holds tubes securely; Sturdy handles facilitate easy transport	10	380.00	3,800.00
		sub-total:			1,143,090.40

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for nonexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

Very truly yours,

DR. ARNOLD E. VELASCO

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

ALOBS No.: 02-204441 2021-05 1766

Amount: \$1390512-40

Effectivity Date: October 25, 2019

Page 14 of 18

Funds Available:

Budget Officer

No.: TSU-PRO-SF-09 Revision No. 02







Tel. No.: 045-606-8142/606-8157

DELIVERY DUE DATE:

27 JUL 2024

LABOTECH TRADING Supplier:

Address: Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque

263-271-192-000 VAT Reg.

0999-227-2526 / (02) 7215-6795 / 7744-3513

PR No.: PO No .: 2023-05-165

Date:

2024-332

Mode of Procurement:

5/21/2024 **Public Bidding**

Gentlemen:

TIN No.:

Tel. No.:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Date of Delivery:

TARLAC STATE UNIVERSITY

Delivery Term:

30 calendar days

Payment Term:

N/30

•					
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
227	niece (s)	Balance Forwarded: TAPE, Brand: SINOSOURCE, Strate-Line Autoclave	65	380.00	1,143,090.40 24,700.00
227	proce (s)	Indicator Tape, 1" x 60yds]	300.00	24,700.00
229	pack (s)	TEST STRIPS, Brand: CORDIAL, litmus pH indicator strips universal application (0-14), pack of 100 strips	10	580.00	5,800.00
232	piece (s)	TEST TUBE STAND, Brand: LABOPETTE, REINFORCED PP, 13MM, 31-PLACE, BLUE - Fully autoclavable; Manufactured from durable reinforced	10	380.00	3,800.00
		polypropylene (PP); Three tiered design holds tubes securely; Sturdy handles facilitate easy transport.			
233	piece (s)	TEST TUBE STAND, Brand: LABOPETTE, REINFORCED PP, 16MM, 31-PLACE, BLUE - Fully autoclavable; Manufactured from durable reinforced polypropylene (PP); Three tiered design holds tubes securely; Sturdy handles facilitate easy transport.	10	380.00	3,800.00
234	piece (s)	TEST TUBE STAND, Brand: LABOPETTE, REINFORCED PP, 25MM, 18-PLACE, BLUE - Fully autoclavable; Manufactured from durable reinforced polypropylene (PP); Three tiered design holds tubes securely; Sturdy handles facilitate easy transport.	10	380.00	3,800.00
237	unit (s)	THERMAL MULTIMETER, Brand: UNI-T Model: UT33D, 80X60 IR Resolution, 50X38 field of view, 10A max, 600mA min, 600V max, 600mv	1	10,800.00	10,800.00
		sub-total:			1,195,790.40

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

Conforme:

DR. ARNOLD E. VELASCO

President

Authorized Official

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:



ALOBS No. : 12-201 441-2024-05-1766

Amount: \$1346 972-46

No.: TSU-PRO-SF-09

Revision No. 02

Effectivity Date: October 25, 2019 Page 15 of 18







27 JUL 2024

Tel. No.: 045-606-8142/606-8157

LABOTECH TRADING

Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque Address:

263-271-192-000 VAT Reg. TIN No.:

Tel. No.: 0999-227-2526 / (02) 7215-6795 / 7744-3513 PR No.:

2023-05-165

PO No.:

2024-332

Date:

5/21/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Supplier:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Date of Delivery:

TARLAC STATE UNIVERSITY

Delivery Term:

30 calendar days

Payment Term:

N/30

Date of Delivery.					
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded:			1,195,790.40
239	piece (s)	THERMO-HYGROMETER, Brand: YAGO TECHNOLOGY,	4	4,800.00	19,200.00
		Model: HTC-2, with Calibration Certificate; Suited for			
		monitoring the indoor climate and dew point in			
		greenhouses, storage, museums, laboratories, and in any			
		location where a continuous and reliable monitoring of			
		the humidity is warranted. The device is designed for			
		installation on wall or table surfaces. The capacitance			
		humidity sensor is specially designed for long-term			
		measuring; Dim: (L x;W x H) 40 x 120 x 89 mm; Weight:			
		168 g; Height: 89 mm; Length: 40 mm; Width: 120 mm;			
		Dew point/mould detector Humidity reading accuracy: 3			
		RH; Accuracy ± °C: 0.5 °C; Humidity reading range (max.):			
		98 RH; Humidity reading range (min.): 10 RH; Humidity	,		
		reading accuracy: ± 3 RH; Temperature: 0 to +50 °C;			
		Power supply (details): 9 V battery pack; Humidity			
		reading range: 10 -98 % RH; Power supply: 9 V battery			
		(1x); Max. temperature: +50 °C; Min. temperature: 0°C			
240	pack (s)	THERMOMETER, Brand: MESTEK, Model: IR03B,	3	2,800.00	8,400.00
		INFRARED - Range: -4 to 930°F / -20 to 500°C;	((
		Resolution: 0.2°; Accuracy: ±2°C from -20 to 100°C; ±2%			
		from 100 to 500°C; Emissivity: 0.95 fixed; Distance to			
		Spot Size Ratio: 8:1			
241	piece (s)	THERMOMETER, Brand: CORDIAL, Red Liquid; 12";	15	180.00	2,700.00
		Partial Immersion; Dual Scale; -20 To 150 C / 0 To 300 F			
		sub-total:			1,226,090.40

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

DR. ARNOLD E. VELASCO

President Authorized Official

Conforme:

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:



ALOBS No. : 12- 204441-2024-25 -1766

Amount: \$ 1370 382.40

Page 16 of 18

No.: TSU-PRO-SF-09

Revision No. 02



Procurement Unit

Tel. No.: 045-606-8142/606-8157

DELIVERY DUE DATE:

27 JUL 2024

LABOTECH TRADING Supplier:

Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque

263-271-192-000 VAT Reg.

0999-227-2526 / (02) 7215-6795 / 7744-3513

PR No .:

2023-05-165

PO No.: Date:

2024-332 5/21/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Address:

TIN No.:

Tel. No.:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Date of Delivery:

TARLAC STATE UNIVERSITY

Delivery Term:

30 calendar days

Payment Term:

N/30

		,			
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded:			1,226,090.40
243	piece (s)	TISSUE, Brand: KIMWIPES, PRECISION WIPES TISSUE	22	308.00	6,776.00
		WIPERS, 1-ply, are an economical choice for general			
		low-lint cleaning tasks; Soft and absorbent; Anti-static			
		dispensing reduces lint; Coated packaging helps			
		protect wipes from spills (280 pulls per box)			
246	pack (s)	TOPLOADER BALANCE, Brand: XINGYUN, Model:	5	13,800.00	69,000.00
		XY2000-2C, top loading balance with high accuracy and			
		set of calibration weights, 2000g capacity			
254	piece (s)	VACUUM DESICCATOR, Brand: CORDIAL, plastic	3	4,980.00	14,940.00
257	piece (s)	WATCH GLASS, Brand: CORDIAL, 80mm ribbed	20	188.00	3,760.00
259	piece (s)	WEIGHING SCALE, Brand: FUJI, Model: FI05, Platform;	2	24,998.00	49,996.00
		Capacity: 300 kg; with Calibration Certificate;			
		Graduation / Readability: 0.01 kg; Platform Size: 500			
		mm x 600 mm Function Modes = Weighing, Piece			
		Count and Animal Weighing Mode Check Mode: with			
		synchronized Tri-Color Backlight Indication & Buzzer,			
		Add-TareMemory (ATM) & Remove-Tare-Memory			
		(RTM) Function provides Easy Commodity Sorting and			
		Checking Operation; Peak Measuring Mode, Auto & Pre-			
		set Tare Function;			4.000.00.00
		sub-total:			1,370,562.40

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

D E. VELASCO

President

Conforme:

uthorized Official

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

No.: TSU-PRO-SF-09

ALOBS No.: 02-20441-4024-05-1766

Amount: \$1370572-40

Budget Officer

Revision No. 02



DELIVERY DUE DATE:

27 JUL 2024

Procurement Unit

Tel. No.: 045-606-8142/606-8157

Supplier:	LABOTECH	TRADING
-----------	----------	----------------

Address: Unit F 3rd Floor, Sta. Catalina Street San Antonio Valley 1, Paranaque

263-271-192-000 VAT Reg.

Tel. No.: 0999-227-2526 / (02) 7215-6795 / 7744-3513 PR No.:

2023-05-165

PO No.:

2024-332

Date:

5/21/2024

Mode of Procurement:

Public Bidding

Gentlemen:

TIN No.:

Please furnish this office the following articles subject to the terms and conditions contained herein:

TARLAC STATE UNIVERSITY

Delivery Term:

30 calendar days

Date of Delivery:		Payment	Term:	<u>N/30</u>
Item No. Unit	Description	Quantity	Unit Cost	Total Cost
	Balance Forwarded: Product Code and Costumer Code Registration and Printing; Keyboard Lock Function, Display Indication: Zero, Gross, Net, Weighing Range, Memory & Battery Level & Recharge Indicators; Connection with Computer, External Remote Display, Ticket Printer & Label Printer, Can set Machine Number (0000~9999) and Group Number (00~99), Can be interfaced with Serial Barcode scanner to enter product code and Full numeric keypad ***********************************			1,370,562.40

(Total Amount in Words) One Million Three Hundred Seventy Thousand Five Hundred Sixty-Two Pesos and Forty Centavos

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

Conforme:

DR. ARNOLD E. VELASCO

d Official

President

LABOTECH TRADING

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

No.: TSU-PRO-SF-09

Funds Available:

JASPER A YAUDER, CPA

Budget Officer Revision No. 02

ALOBS No.: 02-206441-1024-05-1766

Amount: \$1370562-40

Effectivity Date: October 25, 2019

Page 18 of 18